Excel Data Analytics for Business
Anderson School of Management	
University of New Mexico
Date: April 28, 2025 [2:30 PM-5:30 PM]
Problem-01: Cell Reference Types
Use the Cell_Ref.XLSX and answer the following questions:
1. Calculate total sales for each product. 
2. Add a Tax Amount column using the fixed Tax Rate (Cell F5)
3. Calculate Discounted Price using discounts in column E. 
4. Calculate Total Revenue (sum of all Total Sales) in cell D5.
5. Calculate Net Price After Tax for all products.

Problem -02: Benford’s Law (Cell Reference Type, LEFT, COUNTIF, Pivot Table, Chart)
Earnings management is the manipulation of earnings by tempering the numbers associated with earnings. Benford’s Law suggests that the probability that the first digit of any number has the value given as follows: 
	Digit
	Probability

	1
	0.301

	2
	0.176

	3
	0.124

	4
	0.096

	5
	0.079

	6
	0.066

	7
	0.057

	8
	0.051

	9
	0.045


Studies (e.g., Archambault & Archambault 2011; Alali & Romero 2013) suggest that manipulated data do NOT tend to follow the Benford’s Law. 
You are required to:
(1) Use the Cell_Ref.XLSX data. 
(2)  Analyze whether (i) net_income and (ii) Cash have been manipulated. 
(3) To answer the question (2) you are required to prepare the distribution table with leading numbers and present the results in bar diagram. 
(4) Finally comment whether any of the financial statement elements are more likely to be manipulated.
Problem 03: SUM/SUMIF/SUMIFS/COUNTIF(S), MIN, MAX, AVERAGEIF, AGGREGATE

Using the SUMIF.XLSX data appropriate Excel Functions, answer the following questions:
Questions:
1. What is the total sales for the state of Illinois?
a. Use cell references [Before the naming the cell refences]
b. Use names of cell references [Name the cells first, then use the SUMIF]
2. What is the total sales for the state of New York in the year 2000?
3. What is the total sales in the state of Texas (TX) before 2015?
4. How many observations have negative values of Net Income?  
5. How many observations in the state of Texas have negative net income before the year 2010?
6. What is the average sales in the entire dataset?
a. 6.1. Use Average Functions
b. 6.2. Use Aggregate Function
7. What is the minimum sales in the entire dataset?
a. Use MIN Function
b. Use Aggregate Function
8. What is the average sales in the city of Dallas during the year 2000?
9. How many companies’ have headquarters in the city of Seattle?
10. What is the average of all the positive net income?
11. Calculate average sales of top 5 companies (by sales).
12. Calculate sum of sales to top 10 companies.
13. SUM of sales of the top 10 companies, based on CASH value.

Problem 04: IF Function
Using the following table and IF function, answer the following questions:
	#
	Product
	Sales
	Region
	Stock
	Month

	1
	Laptop
	$1,200 
	North
	15
	3

	2
	Mouse
	$25 
	South
	0
	6

	3
	Monitor
	$300 
	East
	8
	2

	4
	Keyboard
	$50 
	North
	20
	12

	5
	Headphones
	$80 
	West
	5
	9


Questions:
1.  Flag products with sales ≥ $100 as "High Value"; otherwise, “Standard”.
2. Categorize stock levels:
a. "Restock" if Stock < 10
b. "Low Stock" if 10 ≤ Stock ≤ 15
c. "Sufficient" if Stock > 15
3. Calculate restock quantity:
a. If Stock < 5, order 10 units.
b. If Stock ≥ 5, order 5 units.
4. Tag products as "Priority" if:
a. Sales > $200 AND Region = "North"
b. OR Stock = 0
5. Tag product “High” if:
a. Sales>=$300
b. Region is “North”.
           
Problem -05: SWITCH
Use data from the following data and excel SWITCH function to answer the following questions:
	ProductID
	CategoryCode
	RegionCode
	Sales

	101
	E1
	N
	$15,000 

	102
	F2
	S
	$8,500 

	103
	A3
	W
	$4,200 

	104
	E1
	E
	$12,000 

	105
	F2
	N
	$6,000 


Questions:
1. Convert CategoryCode to full category names:
· E1 → Electronics
· F2 → Furniture
· A3 → Apparel
2. Assign discounts based on Region + Category:
· North (N) + Electronics → 15%
· South (S) + Furniture → 10%
· West (W) + Apparel → 5%
· All others → 0%
3. Categorize sales performance:
· ≥ $10,000 → "Excellent"
· $5,000 – $9,999 → "Good"
· < $5,000 → "Needs Improvement"

Problem-06: IFS
Use the data from the following table and IFS function to answer the following questions:
	Employee
	Region
	Sales
	Years
	Training Completed

	Alice
	East
	$45,000 
	3
	Yes

	Bob
	West
	$32,000 
	1
	No

	Carol
	North
	$58,000 
	5
	Yes

	Dave
	South
	$29,000 
	2
	Yes



1. Assign regions to groups:
· East/West → "Group 1"
· North/South → "Group 2"
2. Categorize sales performance tiers:
· ≥ $50,000 → "Gold"
· $35,000 – $49,999 → "Silver"
· $20,000 – $34,999 → "Bronze"
3. Determine eligibility for a promotion:
· Eligible if:
· Years ≥ 2 AND Sales ≥ $30,000 AND Training = "Yes"
· Ineligible otherwise

Problem -07: SORT/FILTER
Use the SUMIF Data Filter and Excel SORT/FILTER to answer the following questions: 
1. Which three companies in Alberta (AB) have maintained highest net income?
Objective: Identify financially stable AB companies for potential partnerships
2. Which Arizona companies had highest net loss? 
3. Show BC companies lowest cash balances.
4. Which Calgary-based companies survived exactly 10 years?
5. Find companies with zero sales but positive net income:
Business Use: Identify alternative revenue models (royalties/investments)
Problem-08: Application of Pivot Table
Use the SUMIF_Data.XLSX and Excel Pivot Table, and then answer the following questions.
1. Turn the data into an official Excel Table.
2. Insert the Table into Pivot Table.
3. Show total percentage of total sales by year. Which year the highest percentage of total sales?
4. Show a column chart showing the percentage of total sales by state. Which state has the highest total sales? 
5. Which year has shown the highest net income?
6. Insert Slicer for State and Company. The navigate sales, Net Income.

Problem-08: PMT
Ms. Carter plans to purchase a home priced at $380,000. She will make a 0% down payment and secure a 20-year fixed-rate mortgage at an annual interest rate of 5.75%. Calculate her monthly payment. 

Problem-10: NPV
GreenTech Co. is considering installing solar panels with the following financials:
· Initial cost: $150,000 (paid immediately)
· Annual cash inflows: Year 1: $40,000, Year 2: $50,000, Year 3: $60,000, Year 4: $70,000, Year 5: $80,000
· Discount rate: 8%
Using Excel's NPV function:
1. Calculate the Net Present Value of this investment
2. Determine if the project should be accepted (NPV > 0 = acceptable)
3. Find the present value of Year 3's cash flow specifically

Problem-11: IRR
TasteBuds Diner is considering a kitchen expansion with these cash flows:
· Initial Investment (Year 0): -$200,000
· Annual Cash Flows:
Year 1: $45,000
Year 2: $65,000
Year 3: $85,000
Year 4: $105,000
Year 5: $125,000
Tasks:
1. Calculate the Internal Rate of Return (IRR)
2. Determine if the project meets the 14% required return threshold
3. Validate by calculating NPV at the found IRR (should ≈ 0)

Problem-12: Excel Solver
The department of Accounting at the University of Texas is planning budget for six accounting courses. The total budget for the six courses offered in Fall-2022 is $30,000. The administration wants to allocate the total budget of $30,000 to all the courses. The expected instructors’ remuneration, utility cost, depreciation of equipment, total cost per course, and potential constraints are given in the following tables.
	Course
	Instructor's
Remuneration
	Utility
Cost
	Depreciation
Equipment
	Total Cost

	ACT101
	$4,000
	$100
	$50
	$4,150

	ACT102
	$4,500
	$100
	$50
	$4,650

	ACT340
	$5,000
	$120
	$50
	$5,170

	ACT540
	$5,000
	$120
	$50
	$5,170

	ACT626
	$7,000
	$400
	$70
	$7,470

	ACT632
	$8,000
	$450
	$70
	$8,520

	
	
	
	Total Costs
	$35,130

	Constraints
	
	
	

	Total budget should not be more than:
	$30,000

	Depreciation cost should not be more than:
	$100

	Utility Cost should not be more than:
	$600

	Total cost for a course should not be more than:
	$9,000



You are required to:
1. Use Excel SOLVER to allocate the total $50,000 to all the courses.
2. While solving this problem, you have to consider the following constraints:
· Total budget should not be more than $50,000.
· Depreciation should not be more than $100.
· Minimum utility cost per course is $200.
· Total cost for a course should not exceed $9,000.
Practice Problem-Solver
The department of Accounting at the University of New Mexico is preparing a budget for six accounting courses. The total budget for the six courses offered in Fall-2022 is $40,000. The administration wants to allocate the total budget of $40,000 to all the courses. The expected instructors’ remuneration, utility cost, depreciation of equipment, total cost per course, and potential constraints are given in the following tables.
	
	
	
	
	

	Course
	Instructor's
Remuneration
	Utility
Cost
	Depreciation
Equipment
	Total Cost

	ACT101
	$4,000
	$100
	$40
	$4,140

	ACT102
	$4,000
	$100
	$40
	$4,140

	ACT340
	$4,000
	$200
	$40
	$4,240

	ACT540
	$7,000
	$90
	$40
	$7,130

	ACT626
	$6,000
	$220
	$50
	$6,270

	ACT632
	$10,000
	$350
	$50
	$10,400

	
	
	
	Total Costs
	$36,320

	Constraints
	
	
	

	Total budget should not be more than:
	$40,000

	Depreciation cost should not be more than:
	$60

	Utility Cost should not be more than:
	$400

	Total cost for a course should not be more than:
	$8,000



